Q 1 Factorise 2x + 4.

Q 2 Factorise 12a’b + 15ab°.

Q 3 Factorise 10x* — 14x® + 18x*

Q 4 Factorise 20x%y + 30axy.

Q 5 Factorise X + xy + 8x + 8y.

Q 6 Factorise 1 + a + ac + a’c.

Q 7 Factorise a* + bc + ab + ac.

Q 8 Factorise x* — 36 using identity.

Q 9 Factorise xy — pq + qy — pX.

Q 10 Factorise 5a(2x — 3y) + 2b(2x - 3y).

Q 11 Factorise ax? + by? + bx? + ay®.
y

Q 12 Factorise 8(4x + 5y)® — 12(4x + 5y).

Q 13 Factorise using identity x* + 10x + 25.

Q 14 Factorise using identity 4x? + 9y*+ 12xy.

Q 15 Factorise ax?y + bxy? + cxyz.

14.

Factorisation
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Q 16 Factorise 15xy — 6x + 5y — 2.

Marks (2)
Q 17 Factorise 6pg — 4q + 6 — 9p.

Marks (2)
Q 18 Find the factors of x> — 7x + 12.

Marks (2)
Q 19 Find the factors of 3x* + 9x + 6.

Marks (2)
Q 20 Factorise (a + b)* — (a— h)>.

Marks (2)
Q 21 Factorise the expression 10ab + 4a + 5b + 2.

Marks (3)
Q 22 Divide 24x%y%z? by 6yz.

Marks (3)
Q 23 Divide (7a + 14a) by (a + 2).

Marks (3)
Q 24 Divide x(5x* — 80) by 5x(x + 4).

Marks (3)
Q 25 Divide x* + 7x + 10 by x + 5.

Marks (3)
Q 26 Divide 12pq(9p® — 16q%) = 4pq(3p + 4q).

Marks (5)
Q 27 Divide 39x3(50x% — 98) by 26x3(5x + 7).

Marks (5)
Q 28 Find the factors of 25x? — 4y” + 28yz — 497°.

Marks (5)

Most Important Questions

o, Add 4x2 +2xy - 4 & 7x2 - 3xy +4.

o2 Subtract 7x -3x2 from 4x +8x2.



Q 3 Find the product of (7x - 4y) and (3x - 7y).

Q 4 Using suitable identity find (7x - 3y).

Using identity (a - b)z = a¢ - 2ab + b2 find the value of 982,
5

Q

QGSul:)tr.ar:t 3% (x -4y + 52) from 4}{(2:{ -3y + 102).

Multiply [az + 2c2](3a - 3c)
Q7

2
Using suitableidentity find [6}{2 - 5/3] .
Q8

: : 2 o2
QgSImp|If‘y‘(}{‘y‘+‘y‘Z) (XY - y2Z)<.

Using identity find the product of [% + @] [%+ 3b].

Q10

Ifx+1=6,findx2+-L1
Q11 A 1{2

2 2

i Oy +3y| -[2x +3
Find the product of [§x+zﬂ [3x+4y1 and

o, also evaluateitwhen x =+2and y=-1

2 2

Using identity a2 - b2 =(a+b)(a-bjfind(1.02)" - (0.98|

Q13

Q14Ifx+‘; =12andxy =32.Findthe value of x2 +y2,



Q15

Simplify (xy + yz)z

-2x2y2z find the value whenx =-1,y=1and z=2

Subtract
Q16 4x2 - 2y +723 - 3 from 3y + 7x2 - 223 +4

017 Divide- 72x2yz by -12xyz

- Divide9m> +12m%-6m2 by 3m2

Di'uidue%::—lzlznzc2 +%ab2c3 -%ab3c2 by %abc

Q19

020 Divide6 +x -4x2 +x3 by x-3 bylongdivisionmethod.

Divide12x3 -8x2 -6x +10by 3x - 2 Write the
021 quotient and theremainder.

o2 Dividex3 -6x2 +11x -6by x2 - 4x +3.
023 Findwhether x+1is factor of 2x2 +5x+4or not.
021 Dividethefollowing63a¢b4c by 7a¢blc.

Divide the polynomial 5}{[:{2 -x+1]-[9+4x4]by 4x-1.

o025 Write quotient and remainder,

Divide the polynomial x3+3x2-5x+4byx-1.

026 Write quotient and remainder.

o5y Divide z(5z2 - 80) by 5z2(z + 4).



